FEef -10 dBm

RBW 3 MH=z
WBW 3 MH=z
Att 20 dB SWT 20 ms

Marker 1 [T1 ]

-158.19 dBm

1.460000 ms

1.46ms

0.46ms
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-110

Center 317.978 MH= 2 ma/

Job No.: 0724980

Duty Cycle:
=[1(1.46) + 8(0.46) +
18(0.22)]/ 98.75
=9.1/98.75

=0.092

Average Factor:
=20 log(0.092)
=-20.7dB



Job No.: 0724980

REW 3 MH=Z Marker 1 [T1 ]
YVBW 3 MH=z -28.50c dBm
Fef -10 dBm Attt 20 4B SWT 125 ms 93.750000 ms
—20
1
D | H
[~ L] I 1
—100
-110

Center 317.978 MH= 12.5 ms=s/



Job No.: 0724980

]

EBW 3 MH=z Marker 1 [T1

WBW 3 MH=z

SWT 20 s

-27.91 dBm

3.854000 s

20 dB

ATE

REef -10 4dBm

s/

Center 317.578 MH=



Job No.: 0724980

EBW 3 MH= Marker 1 [T1 ]
VBW 3 MH=z -27.90 dBm
Ref -10 dBm Attt 20 dB SWT 5 = 3.874000 =
— 20
1

Pt

—100

-110

Center 317.978 MH= 500 m=/



